o

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

- W

© »®» 3N @

DNE
DNE

N|—=

DNE

w S nw o=

S ol

no

no

no

yes
R:z=0
NR:z =2
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31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.

42.

43.

44.

45.

46.
47.

48.

49.

50.

ol.

52.

53.
54.

95.

96.

o7.

58.

none
yes

no

yes
§< 8t

.01
3

(=)

(5:

4 = 0.006
proof
proof
proof

x (2sin 3z + 3z cos 3x)

2¢— (1222 43) arctan 2z
x4 (422+1)

2z
z2—1

e 37 (1—6x)
2V

__cosx+sin x arcsin zv/ 1—ax2
1—22(arcsin x)?

sec?(Inz)
x

72z(

—e **(sinx + 2cosx)

zlnz—arcsin zv/1—1z2
zv/1—22(In )2

4et®
1487

€5 (5x In z+1
xr

2
2ze”
1+e2e?

(er\/ 1—x2 arcsin w)
V1—x2

cos(22%) — 227 (1 + = In 2) sin(z:2%)

cosz+zlnxsinx

T zln z\/(ln z)2—(cos(z))?

o sinw (1_(14,_3;2) cos(x) arctan ac)
1+22

(Inz—1) tan x4z In z sec®
(Inx)2

e (1+ (x+1)Inx)

e” (14 In z) sec?(In ze®)
T




59.

60.
61.
62.
63.

64.

65.

66.
67.
68.
69.
70.

71.

72.

73.

74.

75.

76.

7.

78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

91.

l1—Inz

z/22—(Inz)?

—e” tan(e®)
zlnxln2In7

1
zln7In3

—T7e™ tan(e™) cosIn cos e

(55 + 5 + 55) V2T — 3930 — 2w — 1)

Tx

1 1 2 241 -2
(:c;z-l + 2(x—4) + 3(x—2) + 3(362:3-4)) \V gi«—t; \3/@

648" In 648
23°3"In21n3

(14 Inz)

sin” z (Insin x + x cot x)

w (G + @ )

(z4+A2)3 —7(z+Az)+2— (x> —T2+2)

limagz—o0 Az

o Vr+Az+3—vax+3 _
Az -

11mA.L—>

1 1
zfAz—2 x—2

: 1
limaz 0 Az = @-2)°

1 —

1
VaotAz VT

. —1
limaz—o Az = oV

23—-1-7 __
z—2

hmz—)Q

. r—1—2
limg 5 ¥ ——= =

-1
r+1

x

1im14,,1

1
. =l
limg ;4= =

Max: (—2,18), Min: (2, —14)

Max: (3,12), Min: (1,2)
Max: (0,0), Min: (—1,—3)
eps file

eps file

eps file

a) N/A,b) N/A, ¢c)c=0
a) N/A, b) ¢=0, ¢) N/A
r—4y=-2

16z + 4y = 31

a) 28.9 ft,b) 2L s, c)v=—43 L spd =43 Lt d) -5 L

_ y
dy 20—y d -0

dx z+2y° dx?2 T

92.4 ™

92.

93.
94.
95.
96.

97.

98.

99.
100.
101.
102.
103.
104.
105.
106.
107.
108.
109.
110.
111.
112.
113.
114.
115.
116.
117.
118.
119.
120.

121.

122.
123.
124.

125.

dA _ 24 em?

dt T 3/15 s
do _ 12 rad
dt — 65 s

Use all wire on square

2in X 21in X 21in

(1,1)
5/100 h— 350
" an, = ({/100/7)
V304 ft
9.95
+0.0124 = £1.24%

f:A’flzch”:B
s+ C

9_1
1In|seca? + tanz?| + C

B4 2In|v2+1]+1

45

o

11In 1+ sec2z| 4+ C

T _ in L
§ — arcsin 3

e+ 1)+ C

=N

5 arctan 22+ C

217
3

x — arctanz + C

769
112

—In|2+cotz|+C

8

Inb

arctan(e”) 4+ C

[N

flo) =% —a3+ 32 4 3243

s(t) = 2.665t2 + 4

Avg=4,¢c=2
% =2z Sin(eIz)

ABr—1)24+ LBz —-1)*24+C



